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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-11
Examination of the Four/Five-Year Degree Course, 2018-19
SEMESTER-I
AGRICULTURE INFORMATICS
(AGR INFO-211)

Time : 2 Hours
(Section—1 : 10

Maximum Marks : 70
| Section—11:60

Attempt all questions.
Answer of Question No. 1 and 2 be wrilten in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION - I
g us - I
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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Gv) A stand-alone system which produces one page of printed output at a time is D
(1) Page Printer
(2) Line Printer
(3) Dot Matrix Printer
(4) Laser Printer.
™ V- faen W U wnm § gia aeeE # @ I a #
(1) & =R
(2) = fix
3) sk A fiw
4 = fiz

(v) Which is a device that changes information into digital form? [j
(1) Modem
(2) Digitizer
(3) Mouse
(4) Light Pen.
@ IR BH-T € < fefew 9§ WHEd ke §2
(1) weH
2) fefsErEsR
(3) H=™
(4) @ W

(vi) Which printer uses a combination of laser-beam and electro photographic

techniques? D
(1) Laser Printer

(2) Dot-Matrix Printer

(3) Line Printer

(4) None of the above.

- iR SR 3R e SRS TR B WASH H ST R §2
(1) R X
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@) WA X

(4) SWF ¥ ¥ FE
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ME’“) Computer memory consists of
(1) RAM
2) ROM
(3) PROM
(4) All the above.
FoR A0 A ot ¥
a W
2 W
(3) W-Im
(4) SR ast

The first generation of computer available was based on the bit micro

processors? [:I

a 4
@ 8

@3) 16

@ 64

U Gt B ST FIX fha e Al TR W a4
a2

@ 8

(3) 16

@) 64.

i

(ix) ASCI stands for =]
(1) American standard code for information interchange
(2) American security code for information interchange
(3) American Scientific code for information interchange
(4) None of the above.

ASCII St e &

(1) FFT BT Fie TR THEE =9

() RFA IFRA Fie TR FHERA TE
() R EEfFS FIs TR FHEHIA THEA
@) T FE T
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A

(x) Which computer has been designed to be as compact as possible? [:J
(1) Mini computer
(2) Super computer
(3) Micro computer
(4) Mainframe computer.
FA-T FEGH JIGTE FER F ®9 4 feoRA T #2
(1) frt 9=
(2) TR A
() R TR
(4) WAHH FEEX
Fill in the blanks : (10x0.5=5)

@®

(ii)

(i)

(iv)

)

Write full form Of CPU ......eeieivvreiecereeeecesnereeenessssnanssensesssses
CPU Wt G WM B

Microprocessors was the part of which generations of computers?

TEARER FH-8 fd & F9gX & o= 4?2 ..

Resolution is defined in terms of ........

WA &l ¥ wftfe w@
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-II
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
AGRICULTURE INFORMATICS
(AGR INFO-211)

SECTION - II
gaug - 11

Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidater
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
faIEE W (3 WET 3, 4, 5, 6 T 7) B IW A T IW-Faw | feredt §1 IwW-gfew
e g0 WA-T T W B A% e gl FEEEER @ sw

fAYATE W 1 E-UA el S W | W EE ¢

3. Define the following : (5%1=5)
frafafea st R =i -

(i) Plotter.
el

(ii) Cache Memory.
39 AW

(iii) Computer languages.
FI AT

65/000/(1,190)/C-332 9 ~ [PTO.
65/3



CYCY CUIRGIRIGH/BININ

(iv) Optical Character Reader (OCR).
AdFa wER = (")

(v) Web Browsers.
I FR=I9HI

4. Differentiate between the following : (2x3.5=7)

frafafaa § SR FHIC :
; (i) Analog computer and Digital computer.
| T FE T fefves wEe
..;. (i) Micro computer and Super computer.
! FEA T R FH

5. Write short notes/comment/justify the following : (2x6=12)

frafafan 1 989 | feumivavi/saren s

(1) Fifth Generation of computer.
Tiedl Wt F FEII

(ii) Different types of memories.
faf= weR + Sl

6. Explain any two of the following three questions in 1-1% pages. (2x8=16)
frafafes @7 W 4 @ 7 2 B W 1-1% W § g

(i) Write any four formulas in MS-Excel with example.
TLIE-GRT 3 frel o) @l | e wfa fad)
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(i) Write functions of an Operating system. l
IR foey & v fad)

(iii) Explain Binary, Octal, Decimal and Hexadecimal number system used in computer.
FR § WIH qE, s, e @ taedne A R ) aEerl

7. Explain/Describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
et 99 v 4 QA B Q@ B W 23 W A R

(i) Explain any four types of printers.
il aw yoR @ fied & augdl

(i) Explain any five storage devices.

el Ufa ero Rl H TEFEl

(iii) Define the term "design, developement and ICT for data collection” in e-Agriculture.
"design, development and ICT for data collection”.

e-agriculture ¥ FrfefEa T
"design, development and ICT for data collection”.
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